4 e D
(c) 47 = JB = 64=28 ' Altemnative solution: 4*% = (\/Z) =2 =3

1 1 _ -ap
(d T xP =x
3 2 4 3 8.4
b'e X X YX 7.5 -4
(G L) =g S =Xxy2 i
y)\z/) ¥V z
; 1
: 1+
5 ! 2 27 c — 1 28. I +
1-16 m Expand and simplify. . | 1 v 1
1. (—6ab)(0.5ac) 2. —(2xY)(—xy*) c—1 1+x
3. 2x(x — 5) 4. (4= 3x)x e
5. —2(4 — 3a) 6. 8— (4 + %) 29-48 m Factor the expression.
. —2(4 — 3a . 88—
7 4( 2 - 2) 5(x2 2x + 1) 29. 2x + ]2x3 30. Sab - 8abC
. 4(x*—x - == :
.x2+T7x+6 2. 3°"=x—06
8:5(3t—4) — (¢* +2) —2t(t = 3) ! xz i 34, 2x2 + Tx — 4
33. —-2x—8 . 2x x —
9. (4x — )Bx + 7) 10. x(x — D(x + 2) Sl
n. (2x — 1) 12. (2 + 3x)? B e 3. 8 F 1053
. @2x—1) . X
13 46 = (5 + ) 3. 6x*~55—6 38. x?+ 10x + 25
-y =y ¥y
39. 2+ 1 40. 412 — 957
1. (1— 52— 20+ 3)8t—1) s v Pt
- 1. 4¢° — 12t + L X =
15. (1 + 2x0)(x2 —3x + 1) 16. (1 + x — x?)?
43. x>+ 2x2 + x 44, x3—4x2+5x—2_
45 x} +3x*—x—3 46. x3 — 2x? — 23x + 60
17-28 m Perform the indicated operations and simplify.
47. x>+ 5x? — 2x — 24 48. x> — 3x2 — 4x + 12
2 + 8x 95 — 6 S % % & & @ mE e E s s e e s
17. 2 18 b ‘ ' .
49-54 m Simplify the expression.
1 2 1 1
2 — 2 _ _
19'Jc+5+x—-3 2o'x+l+x—~1 . 49._;’-)‘—2 502_x_§x—2_
x*—=3x+2 . xz — 4
u 2 3
21.u+1+u+1 2 -ty - xt =1 59 x* + 5x% + 6x
" i x> —9x + 8 Toxt—x—-12
= e & 1 1
y 53

) +
. x+3 x*-9
25, (—Zr)( = 26 a . b . :
s —6t " be  ac




X 2
x*+x—2 x2—5x44

- - x »

54.

55-40 = Complete the square.
55. x2 +2x + 5

57. x> — 5x + 10

59. 4x? + 4x — 2

61-68 m Solve the equation.
61. x* +9x - 10=0

56. x> — 16x + 80
58. x> 4+ 3x + 1
60. 3x2 — 24x + 50

- - » . . x

62. x2—2x—8=0

3. x*+9x—-—T=0
65.3x2+ Sx+1=0
67. x> —2x+1=0

» - » - - = - x - = -

69-72 m Which of the quadratics
69. 2x> + 3x + 4
71 35"+ = —6

6, x*=2x=7=0 """
66. 2x + Tx +2=0

68. x> +3x2+x—1=0
are irreducible?

70. 2x> +9x + 4

72. x*+3x+6

» - » - - = - x . = - » - » 2 - = - x

73-76 m Use the Binomial Theorem to expand the expression.

73. (a + b)® 74. (a + b)’
75. (x2 - 1)* 76. 3 + x?)°
77-82 = Simplify the radicals.
: -2 ¥32x*
= 79.
77. /322 78 5 75
' $/96a°
80. xy Jx3y 81. 16a‘b? 82. e

. - . » = El = = = » -

83-100 w Use the Laws of Expon
the expression.

83. 3" x 9%

- . » Y = = =

ents to rewrite and simplify

84. 2! X 4" x 16°

REVIEW OF ALGEBRA

2n+1

9, 4 a" X a
85. = (zf ) 86. =
X a
a—3b4 x—l + y—l
Ty 88. ———
87 a_sbs (X +),) 1
89. 37172 90. 96'/°
91. 125%7 92. 6473
93. (2x2y4)3/2 94. (x—syszm)—s/s
4 3
95. ys 96. (/a)
1 VxS
97. W 98. rym
- 1/3 s it it el i Sk
99. ¢ Lﬂ 100. /r+7 X Y1
* s2/3
101-108 m Rationalize the expression.
- 1 -1
101. \/; - 102. (—/L
x—9 x—1
= 2+h+J2—h
o3, Y28 108, Y2 V.
x—4 h
105, —2 106, ——t
EREE R

107. x2+3x+4 — x

= - = - .

109-116 w State whether or not the equation is true for all

values of the variable.

109. /x2=x
16 + a a
1. =14+ — M2, ——
16 16 el g
1 ' 2
13. = 114. =
x+ty l1+y 4+ x

115. (x3)* = x’
6. 6 —4(x + @) = 6 — 4x — 4a

- . x . » - » " » =

1
-+
2

=x+y

-
x

108. x2+x—+x2—x

0. X2+ 4=|x|+2
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@  ANSWERS

1 —3a%c 2. 2x%° 3 2x*—10x 4 4x —3x?

5, 8+6a 6.4—x 1 —x*+6x+3

8. —3:2+211-22 9. 12x2+25x — 7

0. 4+ x2—2x 1M 4x?—4x+1

12.9x2 + 12x + 4 13.30p* + y° — ¢

14. —1517 — 56t + 31 15. 2x3 — 5x2—x + 1

16. x* —2x* —x?+2x+1 1. 1+4x 18.3—2/b

2

0 Pn e agty at

n 2 _:fbbz+ da g, }"; 24.% 25. ;—St

26. -Z-z- 27. - - > B 32:2: 29. 2x(1 + 6x?)

30. ab(5 — 8¢c) 3. (x+6)(x+ 1) 32. (x — 3)(x + 2)

3B (x—4x+2) M 2x-Dx+4)

35. 9(x — 2)(x + 2) 36. (4x + 3)2x + 1)

37. Bx +2)2x—3) 38 (x + 5)?

9. ¢+ D2 —t+1) 40. (2¢ — 3s5)(2t + 3s)

M. 2t—37 42 (x-3)x*+3x+9)

83. x(x + 1 44 (x — 1)x —2)

45. (x — D(x+ D(x +3) 46, (x = 3)(x + 5)(x — 4)

47. (x = 2)(x + 3)(x +4)  48. (x — 2)(x = 3)(x + 2)

29, x+2 . 2x + 1 x_-_}-__}_ 52, x(x +2)
x—2 x+ 2 x—=8 x—4
x—2 x2—6x—4

BTy MGG 6-9

B5. (x + 17 +4 _ 56. (x— 82+ 16 57 ( -8

58. (x +3)°—3 59 (2x+ 1P -3 |

60. 3(x — 4P +2  61.1,-10 62. —2,4

63.

66.

69
71

73.
74.

75.
76.
77.
81.

© 86.

90.

94.

99.

103, ———
xJ/x + 8
105

107

109. False
113. False

éx Answers . . . » . . . . - . . . B . . . . . - . . . . . s L

-9 + /8 -5+ /13
__9_:.‘/__§—5__ 64. 1 +2 ﬁ 65 ——~——
2 6
— —1 +
_7_1__‘/_3_2_. 67. 1’___1_—_‘1_5. 68. —1,—1 = ﬁ
4 2
. Irreducible 70. Not irreducible

. Not irreducible (two real roots) 72. lrreducible
@ + 6a°h + 15a'b? + 20a°b + 15a°h* + 6ab® + b°
a’ + 7a% + 21a°b* + 35a°b® + 35a°b*
+ 21a%® + 7ab® + b’

x¥—4xS+ 6x* —4x2+ 1
243 + 405x% + 270x* + 90x® + 15x® + x'°
8 718. —3 79.2|x|  80. x?|y|
4a’b\/b  82.2a  83.3%  84.2%
a>"*? 87. _ﬁf_ 88. G+yy i 89. 1

b xy /3
N ]

91. 25 93. 22| xPy*
3

e 97. 1732 98
y9/526 . .

- 85. 16x'°

92. 3%
1

96. a*/*
78

95. y6/5

1/4 -1

1
101. 7)—‘—_'_—3— 102. 7;_’__)‘
x+4x + 16 2
104.

V2Z+h—2—h
——-——3 + ﬁ 106 —ﬁ b \/J—)

. 2 o~

3x + 4 2x
T xT+3x+4+x 8. VX2 x 4+ 2 —x
110. False 111. True 112. False
114. False 115. False 116. True

— 100. /2
s 1/24




